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For the following questions, you will be graded on the clarity of your writing, in terms of the structure, grammar, as well as

the appropriateness, correctness and relevance of the particular examples and facts that you use to illustrate or to support
your viewpoints.
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1) Time flies like an arrow. Fruit flies like a banana.
2) Leila gently touched her cat with a ribbon.

3) Old men and women are welcome.
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2. The insertion of parenthetlcal material (e.g., in_my opinion) into a sentence is sensitive to syntactic structure. leen the following

data, discuss the generahzatlon about where in_my opinion can be inserted. (15%)

1) In my.opinion, some programs should get less money.

2) *Some, in my opinion, programs should get less money.

3) Some programs, in my opinion, should get less money.

4) Some programs should, in my opinion, get less money.

5) *Some programs should get, in my opinion, less money.

6) *Some programs should get less, in my opinion, money.

7) Some programs should get less money, in my opinion.

3. Consider the followihg sentences containing firimble, a hypothetical verb. Based on these data, discuss the generalization about
where frimble can occur. (15%)
1) Mary is frimbling her parrot with a garden hose.
2) Mary frimbled her husband in the dining room.
3) Little Jonathan might frimble the parrot.
4) *Little Jonathan frimbled with a garden hose.
5) *Mary is frimbling the bed with a garden hose.
6) *Little Jonathan shouldn’t frimble.

4. For each pair of sentences below, determine the one that a child acquiring English would typically interpret correctly at an earlier
stage, and explain the principle(s) that account(s) for your answer. You may provide more examples to illustrate your explanation.
(20%)

ta) Tom kicked Mary.

1b) Mary was kicked by Tom.

2a) Which tree is taller?

2b) Which tree is shorter?

3a) We’ll go to the movie as soon as we go to the store.
3b) As soon as we go to the store, we’ll go to the movie.
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